
5 Point Fabrication, LLC

d/b/a GENMAC


1680 Cornell Road

Green Bay, WI 54313


LIMITED WARRANTY

5 Point Fabrication, LLC d/b/a GENMAC (“GENMAC”) warrants that the ordered machine will be 
constructed in accordance with normal GENMAC methods of manufacture and to the specifications 
set forth in the purchase order. GENMAC’s machine is warranted to be free of defects in material and 
workmanship for a period of twelve (12) months from the date of invoice (the “Warranty Period”), 
provided that GENMAC’s machine has been properly mounted and wired, properly lubricated and 
the machine has been properly maintained in accordance with the GENMAC maintenance manual, 
and further, provided, the machine has not been abused, misused, neglected, damaged accidentally or 
improperly operated, including the amount of pressure used. Wear due to highly abrasive or corrosive 
atmosphere shall not be considered a defect. Subject to the terms and conditions set forth herein, 
GENMAC agrees to replace, free of charge, any part or parts of the machine which fail through 
defect in material or workmanship within the Warranty Period. To invoke the warranty, customer 
shall, within the Warranty Period, provide GENMAC written notice of any alleged defect. Upon 
receipt of written notice of defect, GENMAC will, at its option, repair or replace the defective 
equipment or component. If GENMAC determines that the alleged defective equipment or 
component requires replacement, GENMAC will ship an identical or similar equipment or 
component to the customer and invoice customer for the same. After replacement equipment or 
components are installed on the machine, customer must return the alleged defective equipment or 
components to GENMAC for evaluation. Upon verification of defect, GENMAC will issue a full 
credit to customer covering the cost of the replacement equipment or components, but excluding 
labor, handling and shipping costs, which shall be the customer’s responsibility. Any equipment or 
components of GENMAC’s machine replaced under warranty shall have the same warranty as new 
equipment or components of GENMAC’s machine, but any such replacement does not extend the 
warranty of the original machine. No warranty is made with respect to: (1) consumable items within 
GENMAC’s machine, such as silicone grease, Teflon or other coatings, Teflon belts, sealing ribbons, 
cutting knives, etc.; (2) failures not reported to GENMAC within the Warranty Period; (3) failures or 
damage due to misapplication, lack of proper maintenance, abuse, improper installation, mounting, 
lubrication, wiring or abnormal conditions of temperature, moisture, dirt, or corrosive matter, etc.; (4) 
failures due to operation, either intentional or otherwise, above the rated capacities, or in an 
otherwise improper manner; (5) any component of the machine which has been altered by anyone 
other than an authorized representative of GENMAC; and (6) any component of the machine 
damaged without fault of GENMAC. GENMAC shall not be liable for any expenses incurred by the 
customer in an attempt to correct any allegedly defective machine or part thereof. Failure to make 
any payment of the sale price as it becomes due shall cancel this warranty and a re-commencement of 
payments shall not operate to reinstate the Warranty Period or expand the terms of this limited 
warranty or any other warranty imposed by operation of law. GENMAC assumes no responsibility 
for unauthorized repairs of its machine even though defective, or for the failure of the machine due to 
jamming or overload, improper refuse removal or improper tooling, even though unintentional. 
GENMAC is not liable for losses, damages or delays due to any defect, and customer’s rights under 
this Warranty shall be the customer’s only remedy.


5/20/2020






"#$%!&!'%(#)"!*+,-!+./01.0!213.+.*!0410!/4135!6718-/!
13-!+.!95-310+9.!17-30+.*!04-!95-31093!1/!2-77!1/!

-:579;--/!293<+.*!.-13!;9=3!/7+>-3!0410!1!41?138!
-@+/0/A!&4-!"#$%!&!'%(#)"!13-!:18-!9B!1!09=*4!

8=3167-!571/0+>!8-/+*.-8!09!01<-!04-!3+*939=/!
-.,+39.:-.0!9B!B998!539>-//+.*!B1>+7+0+-/A!#84-/+,-!

:9=.0-8C!"#$%!&!'%(#)"!>1.!6-!571>-8!9.!1.;!/7+>+.*!
:1>4+.-!+.!;9=3!539>-//+.*!7+.-A!D38-3!"#$%!&!'%(#)"!

.92!09!17-30!;9=3!-:579;--/!9B!/7+>+.*!:1>4+.-!
41?138/A


5/20/2020



EFGDH&#I&!"#$%&J!$EH"&

H%#'!&K%"%!EI"&HL(&EDI"!M%$DH%!EI"&#))EINC!

DG%H#&EINC!F#EI&#EIEIN!DH!()%#IEIN!
%OLEGF%I&


PA F#HQ!#!FEIEFLF!R"#$%!#H%#S!#HDLI'!&K%!F#(KEI%A

TA &%"&!"#$%&J!NL#H'"!M%$DH%!DG%H#&EIN!F#(KEI%

UA DI)J!#L&KDHEV%'!&H#EI%'!G%H"DII%)!"KDL)'!WDHQ!WE&K!DH!I%#H!

F#(KEI%A

XA F#(KEI%!"KDL)'!M%!LI'%H!GDW%H!DI)J!WK%I!&K%!GHD'L(&!E"!

M%EIN!GHD(%""%'A

YA EFGDH&#I&ZZ!E$!$DH!#IJ!H%#"DIC!EI()L'EINC!ML&!ID&!)EFE&%'!&DC!

EFGHDG%H!GHD'L(&!$%%'C!M)D(Q#N%C!LI$DH%"%%I!F#)$LI(&EDIC!
%&(AC!D((LHC!$EH"&!GHEDHE&%"!#H%!&D[


#A &LHI!#EH!D$$Z

MA "%%Q!"LG%H\E"DH]"!#""E"&#I(%C!#I'

(A #""LH%!"#$%&J!M%$DH%!H%"&#H&EINA


!!!!!^A!	W#HIEIN!'%(#)"!#H%!G)#(%'!DI!#))!NL#H'"C!H%G)#(%!&K%F!	
WK%I!WDHIA!'D!ID&!DG%H#&%!&K%!F#(KEI%!WE&KDL&!"#$%&J!	'%(#)"!EI!
G)#(%A


__()%#I!LG!#I'!F#EI&%I#I(%!(H%W"__

PA 'E"(DII%(&!#))!&D!F#(KEI%!M%$DH%!F#EI&%I#I(%!DH!()%#IEINA

TA W%#H!GHD&%(&E\%!N)D\%"A!L"%!)DIN!K#I')%'!MHL"K%"!$DH!

()%#IEIN!#IJ!K#V#H'DL"!#H%#"A


E$!#""E"&#I(%!E"!H%OLEH%'!(DI&#(&

F#IL$#(&LH%H!M%$DH%!DG%H#&EIN!&K%!%OLEGF%I&


H%F%FM%H!&K%!"#$%"&!F#(KEI%!E"!DI)J!#"!"#$%!#"!JDL!W#I&!
E&!&D!M%!ZZ


GKDI%[!`TabXYcbTPc`!$#d[!`TabXYcbcUPe!

%bF#E)[!/17-/f*-.:1>A>9:


EFGDH&#I&!ID&E(%


5/20/2020

mailto:sales@genmac.com


%:579;!:1>4+.-!9.7;!B93!04-!5=359/-!18,-30+/-8!6;!
:1.=B1>0=3-3A


'=-!09!B-8-317!712/!8-17+.*!2+04!/1B-0;C!N%IF#(!
3-g=+3-/!0410!95-310+.*!1.8!/1B-0;!+./03=>0+9./!3-710-8!
09!04+/!:1>4+.-C!6-!639=*40!09!04-!100-.0+9.!9B!1.;!1.8!
177!5-3/9..-7!249!95-310-/C!:1+.01+./C!>7-1./!93!
/=5-3,+/-/!93!:1.1*-/!+0/!=/-A


EB!04+/!:1>4+.-!+/!8+/59/-8!9B!93!=/-8!6;!1.;!904-3!
>9.>-3.C!04-/-!+./03=>0+9./!:=/0!1>>9:51.;!04-!
:1>4+.-!1.8!6-!639=*40!09!04-!100-.0+9.!9B!/=>4!
>9.>-3.A!


N%IF#(!+/!09!6-!539:507;!.90+B+-8!+B!04-!:1>4+.-!+/!
/978!93!8+/59/-8!9B!+.!1.;!:1..-3[


G49.-[!`TabXYcbTPc`

$1@[!`TabXYcbcUPe

%b:1+7[!/17-/f*-.:1>A>9:


D.7;!5130/!93!-g=+5:-.0!:1.=B1>0=3-8!6;!N%IF#(C!93!
1=0493+?-8!6;!N%IF#(!+.!23+0+.*C!13-!09!6-!-:579;-8!
9.!93!2+04!04+/!:1>4+.-A


H%#'!&KE"!EFGDH&#I&!ID&E(%!WE&K!H%N#H'!&D!"#$%&J


5/20/2020



D=3!-.*+.--3+.*!8-5130:-.0!+/!>9.0+.=177;!-,17=10+.*!6904!.-2!/1B-0;!
-g=+5:-.0!1.8!0410!-:579;-8!+.!04-!B+-78A!(9./-g=-.07;C!2-!3-g=+3-!
+::-8+10-!.90+B+>10+9.!+.!3-*138!09!1.;!5-3>-+,-8!41?138/C!1.8!53+93!09!
1.;!:98+B+>10+9./C!93!+B!04-!:1>4+.-!+/!/978C!791.-8C!031./B-33-8C!93!
904-32+/-!8+/59/-8!9BA!&410!+.B93:10+9.!2+77!17792!=/!09!:1+.01+.!
1>>=310-!B+7-/!1.8!1//=3-!>9.0+.=-8!/1B-!95-310+9.A


N%IF#(

#!'+,+/+9.!9B!Y!G9+.0!$163+>10+9.!))(A


Peca!(93.-77!H918

N3--.!M1;C!WE!YXUPU!L"#


222A*-.:1>A>9:!

G49.-[!`TabXYcbTPc`

$1@[!`TabXYcbcUPe


%b:1+7[!/17-/f*-.:1>A>9:


JDLH!#&&%I&EDI!G)%#"%[


&4+/!.90+>-!93!>95;!04-3-9B!:=/0!6-!639=*40!09!04-!100-.0+9.!9B!177!
5-3/9..-7!>9..->0-8!2+04!04-!95-310+9.C!:1+.0-.1.>-C!/17-/C!1.8h93!
8+/59/+0+9.!9B!N%IF#(!%g=+5:-.0A!#001>4!09!;9=3!5-3:1.-.0!3->938/!
B93!3-*=713!3-B-3-.>-A


W#HIEIN


5/20/2020

http://www.genmac.com
mailto:sales@genmac.com


'D!ID&!(DII%(&!#EH!DH!DG%H#&%!F#(KEI%!WE&KDL&!
\E"L#))J!(K%(QEIN!&D!"%%!&K#&!#))!FD\EIN!G#H&"!
#H%!"%(LH%'C!#I'!#IJ!DM"&#()%"!#H%!H%FD\%'!$HDF!
&K%!(L&&EIN!#H%#"A!


'D!ID&!H%FD\%!#I'hDH!FD'E$J!#IJ!F#(KEI%!
(DFGDI%I&"A!#))!(DFGDI%I&"!"L(K!#"!NL#H'"C!
G#I%)"C!N#LN%"C!%&(A!FL"&!M%!EI!G)#(%!#I'!$LI&EDI!
GHDG%H)J!M%$DH%!F#(KEI%!E"!GL&!EI&D!DG%H#&EDIA!#IJ!
F#)$LI(&EDIC!DH!FE""EIN!(DFGDI%I&"!FL"&!M%!
MHDLNK&!&D!&K%!#&&%I&EDI!D$!&K%!F#IL$#(&LH%H!
EFF%'E#&%)JA


&4+/!/1B-0;!.90+>-!/49=78!6-!539:+.-.07;!8+/571;-8!+0!04-!293<!13-1C!
*+,-.!09!04-!/=5-3,+/93!1.8!95-310+9.!5-3/9..-7!+.!1.!-BB930!B93!177!
-:579;--/!09!6-!>9.>-3.-8!169=0!/1B-0;!53->1=0+9./A


N%IF#(

#!'+,+/+9.!9B!Y!G9+.0!$163+>10+9.!))(A


Peca!(93.-77!H918

N3--.!M1;C!WE!YXUPU!L"#


222A*-.:1>A>9:!

G49.-[!`TabXYcbTPc`

$1@[!`TabXYcbcUPe


%b:1+7[!/17-/f*-.:1>A>9:


5/20/2020

http://www.genmac.com
mailto:sales@genmac.com


 36.26 

1805 ASSEMBLY

A A

B B

C C

D D

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

TITLE:

01805-PURCHASED-PARTS

(920) 458-2189        www.genmac.com

REFERENCE PART

SCALE:

1680 Cornell Road, Green Bay, WI 54313

SHEET 1 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

GENMAC IS PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

WITHOUT THE WRITTEN PERMISSION OF
OR AS A WHOLE

SIZE

GENMAC ANY REPRODUCTION IN PART
DRAWING IS THE SOLE PROPERTY OF

NAME

THE INFORMATION CONTAINED IN THIS

DATE

1:8
WEIGHT:

Q.A.

REVDWG.  NO.

MFG APPR.

D

.015"

TOLERANCING PER:

MATERIAL

DRAWN

CHECKED

ENG APPR.

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1
TWO PLACE DECIMAL    .030"
THREE PLACE DECIMAL  

INTERPRET GEOMETRIC

SEE DETAILS

ITEM NO. QTY. PART NUMBER

1 1 1805-BACK-PANEL

2 1 1805-BACK-STOP

3 1 1805-BB

4 1 1805-CHAMP-WELDMENT

5 1 1805-DOOR

6 2 1805-DOOR-GUIDE

7 1 1805-FCB

8 1 1805-GENERIC-VHA

9 1 1805-RB

10 2 1805-SIDE-PANEL

11 1 1805-VALVE-ASSY

12 1 1805-VERTICAL-CYLINDER

13 4 1820-CASTER-ASSY

14 1 3005-LD-CHEESE-STOP

15 1 3005-LD-CYLINDER-JACK

16 3 3005-LD-DOOR-STOP

17 1 3005-LD-DOOR-SWITCH

18 1 3005-LD-FILTER-GUAGE

19 1 3005-LD-HARP-JACK

20 2 3005-LD-LANYARD

21 1 3005-LD-MINI-RB

22 1 NAME-PLATE-ASSY

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN

ITEM 8 IS A GENERIC HARP ASSEMBLY
THAT ASSEMBLY IS CUSTOM MADE FOR
EACH OF THE CUSTOMR'S SPECIFIC NEEDS.
CALL GENMAC (920) 458-2189
FOR MORE DETAILS

DETAIL A
SCALE 1 : 2

17

18

10

20 22 20

4

5

A

 30.69 

 27.75 

16

3

9

7

6

11

12

15

13

16

6

16

2

14

21

4

5

 38.36 

 48.59 

 54.82 

 32.93 

1
10

2

19



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

1805 BACK PANEL

1805-PURCHASED-PARTS

SHEET 2 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:4
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

1/4" SS SPLIT LOCK WASHER

3A-036

1/4" SS FLAT WASHER

1805-BP

1/4" SS ACORN NUT

TYPICAL 4 PLACES

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

1805-BACK-STOP

1805-PURCHASED-PARTS

SHEET 3 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:8
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN

3/8" SS ACORN NUT

39B-106

39B-106

1805-BKST

1805-DC

3/8" SS ACORN NUT

39B-106

39B-106

1805-BKST

1805-DC



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

1805-BB

1805-PURCHASED-PARTS

SHEET 4 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:2
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN

PL14N01

PL14N01

PL14N01
18PMS-3

(BLACK BUTTON)



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

1805-CHAMP-WELDMENT

1805-PURCHASED-PARTS

SHEET 5 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:16
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

 43.63 

 25.00 

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN

5/8" SS FLAT WASHER
5/8" SS SPLIT LOCK WASHER

1805-CHAMP

5/8"-11 UNC SS HEX BOLT 1 1/2" LONG

1805-SUPPORT-BRACE

39B-106

TYPICAL 4 PLACES

 27.75 



0

A A

B B

4

4

3

3

2

2

1

1

.250" CLEAR POLYCARBONATE

1805-DOOR

1805-PURCHASED-PARTS
SHEET 6 OF 22

3-22-21B.VAN

UNLESS OTHERWISE SPECIFIED:

1:4
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

REFERENCE PART

SCALE:

PROPRIETARY AND CONFIDENTIAL

3.925 LBM

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

1805-DOOR

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

1805-DOOR-GUIDE

1805-PURCHASED-PARTS
SHEET 7 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:4
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN

1/4" SS SPLIT LOCK WASHER

1805-DG

1/4" SS FLAT WASHER

3A-036

1/4" SS ACORN NUT

TYPICAL 5 PLACES



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

1805-FCB

1805-PURCHASED-PARTS

SHEET 8 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:2
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

1/4" SS SPLIT LOCK WASHER

1805-SCB

PL14N02

AS4000-N02

4 MM SS FLAT WASHER

4 MM SS SPLIT LOCK WASHER

M4 X 0.7 SS SLOTTED MACHINE SCREW 10 MM LONG

TYPICAL 2 PLACES

1/4" SS FLAT WASHER

PL14N02

1/4" SS ACORN NUT

TYPICAL 2 PLACES

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN



PL14N01

PL14N01

PL14N0118PMS-3-R
(RED BUTTON)

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN

0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

1805-RB

1805-PURCHASED-PARTS
SHEET 9 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:2
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:



1/4" SS ACORN NUT

TYPICAL 4 PLACES

1/4" SS FLAT WASHER

1/4" SS SPLIT LOCK WASHER

1805-LD-SP

3A-036

0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

1805-SIDE-PANEL

1805-PURCHASED-PARTS
SHEET 10 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:4
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

1805-VALVE-ASSEMBLY

1805-PURCHASED-PARTS
SHEET 11 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:2
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN

 SCREW 1 1/2" LONG

PL14N02

PL14N02

PL14N01

PL14N01

SQF-2

PL14N02

SQF-2

#10 SS FLAT WASHER

#10 SS SPLIT LOCK WASHER

#10-24 SS SLOTTED MACHINE

14DPB



(920) 458-2189        www.genmac.com

0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

1805-VERTICAL-CYLINDER

1805-PURCHASED-PARTS
SHEET 12 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:8
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

WITHOUT THE WRITTEN PERMISSION OF

REFERENCE PART

MATERIAL

.015"

SCALE:
GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
TOLERANCING PER:

.030"

INTERPRET GEOMETRIC

THREE PLACE DECIMAL  

PROPRIETARY AND CONFIDENTIAL

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN

1/2"-13 UNC SS HEX BOLT 1 1/2" LONG

3005-CYLINDER-DR-PLATE

1/2" SS SPLIT LOCK WASHER

GENERIC-VERTICAL-PLATEN

 FLAT HEAD SCREW 3/4" LONG

1805-VPP

PL14N03

PL14N03

3A-1135-3

3A-1135-3

3A-1135-3

3A-1135-3

TYPICAL 2 PLACES

1/2" SS SPLIT LOCK WASHER

TYPICAL 4 PLACES

1/2"-20 UNF SS SOCKET HEAD SCREW 1" LONGG

TYPICAL 4 PLACES
3A-889

3/8"-16 UNC SS 82

SC-00217415.00

1/2" SS  FLAT WASHER

TYPICAL 4 PLACES



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

1820-CASTER-ASSY

1805-PURCHASED-PARTS
SHEET 13 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:2
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

5/8" SS SPLIT LOCK WASHER

5/8-11 UNC SS SHCS 1 1/2" LONG

94-HK-DADI-M-PO-TL-SS

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INTIAL RELEASE 3/5/2022 B.VAN



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

3005-LD-CHEESE-STOP

1805-PURCHASED-PARTS
SHEET 14 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:2
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

TYPICAL 3 PLACES

3/8" SS FLAT WASHER

92320A726

3/8" SS FLAT WASHER

3/8" SS SPLIT LOCK WASHER

3/8" SS LOW PROFILE ACORN NUT

3005-LD-CS

3/8"-16 UNC SS HEX BOLT 1 1/2" LONG

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

3005-LD-CYLINDER-JACK

1805-PURCHASED-PARTS
SHEET 15 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

2:1
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN

1/2"-13 UNC SS HEX BOLT 2" LONG

1/2" SS HEX NUT



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

3005-LD-DOOR-STOP

1805-PURCHASED-PARTS
SHEET 16 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

2:1
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN

1/4" SS LOW PROFILE ACORN NUT

1/4"-20 UNC SS HEX BOLT 1" LONG

1/4" SS FLAT WASHER

1/4" SS SPLIT LOCK WASHER

3A-036



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

3005-LD-DOOR-SWITCH

1805-PURCHASED-PARTS
SHEET 17 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:1
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN

#10 SS SPLIT LOCK WASHER

#10 SS LOW PROFILE ACORN NUT

3005-LD-DSR

PL14N01

PL14N01

#10-24 UNC SS PAN HEAD SLOTTED SCREW 1 1/2" LONG

#10-24 UNC SS PAN HEAD SLOTTED SCREW 1 1/2" LONG

18CR-30

PL14N01

#10 SS FLAT WASHER

#10 SS FLAT WASHER

#10 SS SPLIT LOCK WASHER

#10 SS LOW PROFILE ACORN NUT



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

3005-LD-FILTER-GUAGE

1805-PURCHASED-PARTS
SHEET 18 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:4
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN

PKR35

PL14N02

931F-35011

B752FM

1432N12

PIPE PLUG
PROVIDED WITH B752FM



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

3005-LD-HARP-JACK

1805-PURCHASED-PARTS
SHEET 19 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

2:1
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN

5/16" SS HEX NUT

5/16"-18 UNC SS HEX BOLT 1 3/4" LONG



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

3005-LD-LANYARD

1805-PURCHASED-PARTS
SHEET 20 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:1
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

#10 SS LOW PROFILE ACORN NUT

1/4-20 SS HEX NUT
WILL NOT THREAD ON STUD

(USED AS A SPACER ONLY)
OF 3005-LD WELDMENT

98404A959

1/4" SS HEX NUT

#10 SS FLAT WASHER

#10 SS SPLIT LOCK WASHER

92730A110

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

3005-LD-MINI-RB

1805-PURCHASED-PARTS
SHEET 21 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:8
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

TYPICAL 7 PLACES

TYPICAL 3 PLACES

3/8"-16 UNC SS HEX HEAD BOLT 1 1/2" LONG

92320A726

3/8" SS FLAT WASHER

3/8" SS SPLIT LOCK WASHER

3/8" SS LOW PROFILE ACORN NUT

3/8" SS FLAT WASHER

3A-811

3B-537-10-2

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INITIAL RELEASE 3/5/2022 B.VAN



0

A A

B B

4

4

3

3

2

2

1

1

SEE DETAILS

NAME-PLATE-ASSY

1805-PURCHASED-PARTS
SHEET 22 OF 22

3-5-22B.VAN

UNLESS OTHERWISE SPECIFIED:

1:1
WEIGHT:

REVDWG.  NO.

B
SIZENAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

MATERIAL

(920) 458-2189        www.genmac.com

TOLERANCING PER:
INTERPRET GEOMETRIC

WITHOUT THE WRITTEN PERMISSION OF

PROPRIETARY AND CONFIDENTIAL

REFERENCE PART

SCALE:

.015"

GENMAC IS PROHIBITED.

TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

.030"

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/16"
ANGULAR: MACH .5     BEND 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
GENMAC ANY REPRODUCTION IN PART
OR AS A WHOLE

1680 Cornell Road, Green Bay, WI 54313

TITLE:

#10 SS SPLIT LOCK WASHER

WILL NOT THREAD ON

GENMAC-NAMEPLATE

1/4" SS HEX NUT

#10 SS FLAT WASHER

USED AS A SPACER ONLY

#10 SS LOW PROFILE ACORN NUT

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

0 INTIAL RELEASE 3/5/2022 B.VAN

TYPICAL 2 PLACES

BEFORE SHIPPING
STAMP WITH MODEL & SERIAL NUMBER





REDUCING BROKEN WIRE OCCURRENCES:

Several things contribute to increased frequency of breaking wires.  Use this
checklist to improve your process wherever possible.

Product issues: Different cheeses have different features that can make it difficult,
or even impossible to cut.  If the cheese has a wax, plastic, or cured “skin”, this can
cause problems for the wire to start its cut.   Cutting cheese with wires has
limitations, but here are some things to consider, to improve the results.

Temperature: The temperature of the product has a huge effect on cutting.  A firm
cheese that is kept in a cooler till just before cutting (below 40 F for example) will be
remarkably harder to cut than if the same product was at 45 F.  If a firm cheese is
breaking wires often, temper the block to a warmer temperature if possible.  Every
2 degrees warmer will yield noticeable improvements.

Wire Diameter: A wide range of wire sizes are available through our parts
department.  We supply a tested brand in many sizes that have given the best
results.  Generally, for a cheese similar to cheddar, cutting at 40-45 degrees we
recommend a .041” diameter wire.  For softer cheeses, we often recommend a
smaller wire.  For harder or colder product, we offer up to .059” diameter wire.  If
you are breaking wires regularly, are not able to warm the product, and are
following the torque guidelines (following section), and are using a quality wire,
then it may be time to go to a heavier wire.

Wire tightening technique: Wires need to be tight enough to not “bow” too much
while cutting but tightening the wires TOO much can easily stretch the wire past it’s
yield point, drastically shortening the life of the wire.  Use this chart for specific wire
diameters to apply the recommended torque:

Wire
Diameter

Torque
(IN-LB)

Torque
(FT-LB)

0.016 16.17 1.35
0.029 49.49 4.12
0.035 70.49 5.87
0.041 95.47 7.96
0.05 137.79 11.48

0.059 185.35 15.45

Note: Wires will stretch and require regular retightening, especially after the first
few cuts.


